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i int SimpleFunc(int num) { . . . . } !
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. int arr[3]={1, 2, 3};
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void ShowlrayElem{int * param, int len) vold ShowArayElem(int * param, int len)
{ {

int i; int i;

for(i=@; i<len; i++) for(i=@; i<len; i++)

printf("%d ", param[i]); printf("%d ", param[i]);

printf(“\n"); printf("\n");

J }

S T void AddArayElem({int * param, int len, int add)

{ 1
int arrl[3]={1, 2, 3}; int i;
int arr2[5]={4, 5, 6, 7, 8}; for(i=@; i<len; i++)
ShowArayElem(arrl, sizeof(arrl) / sizeof(int)); param[i] += add;
ShowArayElem{arr2, sizeof(arr2) / sizeof(int)); }
return 8;
} int main(void)
1
12 3 Aalsg7g'.ll_ int arr[3]={1, 2, 3};
4567 8 AddArayElem(arr, sizeof(arr) / sizeof(int), 1);
ShowlrayElem(arr, sizeof(arr) / sizeof(int));
1317 2f AddArayElem(arr, sizeof(arr) / sizeof(int), 2);
e o= ShowlrayElem(arr, sizeof(arr) / sizeof(int));
234 AddArayElem(arr, sizeof(arr) / sizeof(int), 3);
45 6 ShowlrayElem(arr, sizeof(arr) / sizeof(int));

return 8;

7809 }
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void ShowArayElem [int * param) int len) { . . . . }
void AddArayElem [int * param| int len, int add) { . . . . }

———————————————————————————————————————————————————————————————————————————————————

i void ShowArayElem ((int param[]], int len) { . . . .} E
i void AddArayElem |(int param[]|, int len, int add) { . . . . } i
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i int main(void) i
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] int arr[3]={1, 2, 3}; i

i int * ptr=arr; // int ptr[l=arr; 2 93 E71& i
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Chapter 14-2. Call-by-value
vs. Call-by-reference
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void MoReturnType(int num)

{
if(num<@d)

return;

} - call-by—value

——————————————————————————————————————————

void ShowArayElem(int * param, int len)
{
int i;
for(i=0; i<len; i++)
printf("%d ", param[i]);
printf("\n");

call-by-value} call-by-referencegl= 820 E 7|E2 &
St= 20| 3%t A otL|C}.
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void Swap(int nl, int n2)

{
int temp=n1l;
nl=n2;
n2=temp;
printf("nl n2: %¥d %d \n", nl,

int main(void)
int numl=18;

int num2=28;
printf("numl num2: %d %d \n",

// numlxt
printf("numl num2: %d %d \n",

return @;

Swap(numl, num2);

}

numl num2: 1@ 26
nl n2: 2@ 1@
numl num2: 1@ 2@

Aé3g7gﬂ+

Call-by-value

n2);

numl, num2);

num2oj] AR gre] ME viHZ 7!

numl, num2);
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n2=temp
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void Swap(int * ptrl, int * ptr2)

{
int temp = *ptril; temp=*ptrl

*ptrl = *ptr2; *ptrl = *ptr2
*ptr2 = temp;

3

int main(void)

{

int numl=16; *ptr2=temp
int num2=28;
printf("numl num2: %d %¥d \n", numl, num2); Swap E}_Jlk_ LH of] A{ -OI;!-_JI\_ QH Qi HAZE
Swap(&numl, &num2); Zro| m=t
printf(“numl num2: %d %d \n", numl, num2);
FEENR numl num2: 1@ 20

J numl num2: 20 10 Al ot

Swap g LA 2| *ptrl2 main 42| numl

Swap gt LA 2] *ptr2= main 42| num2

£ 2|o|stA| ECt.



pmmmmmmm e
i int main{void)

o

i int num;

i scanf("%d", &num);

i

]

i)
S
f _____________________________
I int main{void)
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i char str[38];

i scanf("#%s", str);
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i int main(void) i

P A |

i int num=28@; i

i const int * ptr=&num; i

1 1

! *ptr=30; Q o

L eer=30 A BWA N L gyl const 411l e 0|

: num=40; /1 ARY AED

; | HOIE| ¥ ptrZ O|3HM ptro| 7t2|7|= H40 HEE
1 1

i } 1 &E 88%= AS 5180 EASLICH



int main(void)

1 1
1 1
1 1
1 1
i i
P :
i int numl=20; ]
i int num2=30; ]
i int * const ptr=&numi; i
[
i ptr=&num2; // Aokl oy i HTE 2| const AAotel Yz O]
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int main(void)
{
const double PI=3.1415;
double rad;
PI=3.07; // AW A BAHE o548
scanf("%1lf", &rad);
printf("circle area %f \n", rad*rad*PI);

return 8;

S
i int main(void)

1

P

i double PI=3.1415;

| double rad;

1

| PI=3.07;  // MSE BR ARKIE 27, ful
1

' scanf("%1f", &rad);

i printf(“circle area %f \n", rad*rad*PI);

i return 9;
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